FREXSREFAOQZRRIKR(BARA+HEN)

SHSETR1HRE

| A&HXEt | 138,443] 123,091| 122,420| 245511] K7 X
H AA H A0
3R] BT £ HEE 35 i e HE
5l ] E=S B 5l ] E=S &t
AHFRWTE 2294 2,080 1,009 3,989 ES RN 0 0 0 0
AN XHERATE 1,005] 1,766] 1.443] 3.209 E s 0 0 0 0
OXFm—TE 369 397 353 750| (Al HEmE—TE 0 0 0 0
OKZRm—_TH| 2340 2344 2227 4571 BmE—TH 3 3 0 3
# KHEB=1H 1,645] 1,699] 1420] 3.119 BEE=TH 0 0 0 0
AFHZmPMUT B 443 455 375 830] |# Hmam T B 24 24 0 24
AiEh ] E 799 728 787 1515 el 0 0 0 0
HOKXHZEF—TE 10 3 7 15 Haa/N] B 0 0 0 0
OAGFT_TH 602 533 525]  1,058| |3 BMEEET B 0 0 0 0
OABZHR=1TE 239 191 154 345 SHE—T18 0 0 0 0
=t 10,646] 10,201] 9,200] 19,401 SHE=TH 0 0 0 0
& 23,991| 21,015] 20,580] 41,595
AHFE—TH 2.978] 2579] 2.705] 5,284
AR _ ] E 2378 1,992] 1,719 3,711 HEA—TH] 2833] 2428] 2,388] 4,816
AGR—1E 1422 1,323 1,124 2447 BEIA_TE 869] 829] 858| 1,687
OKXZHR—TH]| 2251 1.816] 1,828 3644 mEA— T B 2617 2377 2611 4,988
KOXGFF_TE 1,700  1,430] 1,326 2,756 MEAZTE 1,697] 1,708] 1,684] 3,392
OKRGZHR=TH 1,914] 1,611 1,417 3028| |&l EEA=ZTH]| 2041] 1,990 2,002] 3,992
AHA— T E 3258 3,023 3,163] 6,186 mEA T B | 2322 2380] 2438 4818
A7 _ ] E 4223 3719] 3493 7212 MEATTH| 2249 1978 1,941 3919
# KEB=TE 4345] 3432] 3456] 6,888 OmEA/NT B| 1,27] 1,111| 1,065] 2,176
KGN E 2644 2646] 2799 5,445 FEA—THB| 2644 2369 2437 4806
AAHGEA ] E 3,308] 2,594 2460 5,054 mEA_TH| 1,954 1520 1,729 3,249
AFHFFNT E 1554 1,263] 1,206] 2,469 hEA=TH| 2534 2458] 2342 4,800
B KEmLt]TE 1,189 975 900] 1,875| |sA] EA—TH]| 2028 1639 1,805 3444
OKGAHRI— T 409 319 229 548 HEAZTH 1,835 1,596] 1,638] 3,234
KGABT—TH 2472 1,985 1,809 3,794 JtEA—TH]| 1993 1582] 1665 3247
ERDH AR 0 0 0 0 JtEA_TH]| 2538 2085 2,306 4,391
ABHEEDEDAE 0 0 0 0 &t 31,281 28,050 28,909] 56,959
B 36,045 30,707] 29,634] 60,341]
OmBE>A/NT B| 1,395] 1,266] 1,265] 2,531
RHIL—TE 3038] 2201 2414] 4615 REFRTE 1,521 1,751 1,672 3,423
RAHEIL_TE 1952 1,787] 1,839 3,626 FRANTE 1,262 1,238 1,242] 2,480
RAHEIL=ETE 3,835 3,332 2,901 6,323] it FRETE 1,290 1,237[ 1,209] 2,446
AHFIEET B 2063 1,793 1,735] 3,528 FR/\TE 3,022] 2.820] 2,767 5,587
AHFIEHRTH 1,765 1535 1,370 2,905 M E—TH 1,303 1,250 1,318 2,568
AN RFEXARTE 3,158 2,637 2,319] 4,956 M EZTH 1122 1117 1,202] 2,319
OXRFAHI—T]| 2006] 1919] 2,079 3,998 oM E=TH 1,754] 1,395] 1511] 2,906
FEHME—TH 0 0 0 0 H EUTH 1,950 1,625] 1,713] 3,338
EFNEZTEH 129 129 0 129 M ERETH 2032] 1,769] 1,960 3,729
EHEZTH 0 0 0 0| |E| #ENRTE 3,753 3,017] 3,313] 6,330
l FHENTE 0 0 0 0 M EETH 2588] 2,084] 2,202] 4,286
EHERTH 93 91 28 119 #ENTBH 1,720 1,705 1,707] 3,412
EFENRTH 0 0 0 0 B 24.712| 22,274] 23,081| 45,355
BME—TEH 2 2 0 2
BIEZTH 0 0 0 0 IWE=TE 3161] 2,717] 2,832] 5,549
H WE—TH 3,023 2817 2,886 5703| |& LUEWTE 1.798] 1,747 1.734| 3481
WLWE_TE 2890 2,735 2919 5,654 HRR—TE 1,367 1,123] 1,255 2,378
FEE—TH 0 0 0 Of |3 HHRZTE 1,375] 1,370] 1,333] 2,703
TLEES ] B 4 4 0 4 PR=ETE 2369 2298] 2,229 4527
FEE=TH 2 2 0 2| |/ FRIETE 1,698] 1,589] 1,633] 3,222
BE—TH 0 0 0 0 | H 11,768] 10,844] 11,016] 21,860
BE_TH 0 0 0 0
BE=1 B 3 3 0 3] CEARIIHEFREMTIBELTWSEH. KD
BB T H 1 1 0 1 TERIBOBERNAS—DDET(TB) T2hF

LLEICHEIFF EL TS D0 H S,
(AT 2HICODNHEERDNHDHELD)
LE, 2L EDFRIS

it

1=




